Test Procedure for EVAL-CN0253-SDPZ CftL board, Rev.A
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Set the jumpers LK1, 2, and L3 to position B.

Power up the board from a £10V supply, using EXTERNAL VDD, GND and VSS.
Check supply current to be less than 0.5 mA.

Remove jumpers from BAT1 to BATS.

Set the jJumper EN to position B. Set jumpers A0, Al, and A2 to position A.

Measure the resistance between BAT1+ and T3. It should be <25 ohms for correct operation.
Measure the resistance between BAT2+ and T2. It should be <25 ohms for correct operation.
Measure the resistance between BAT2+, BAT3+, BAT4+, BAT5+, BAT6+, BAT7+, BAT8+, and
T3. They should be >500 kilohms for correct operation.

Measure the resistance between BAT3+, BAT4+, BAT5+, BAT6+, BAT7+, BAT8+, BAT8-, and T2.
They should be >500 kilohms for correct operation.

Set jumpers A0, Al, and A2 to position B, A, and A.

Measure the resistance between BAT2+ and T3. It should be <25 ohms for correct operation.
Measure the resistance between BAT3+ and T2. It should be <25 ohms for correct operation.
Measure the resistance between BAT1+, BAT3+, BAT4+, BAT5+, BAT6+, BAT7+, BAT8+, and
T3. They should be >500 kilohms for correct operation.

Measure the resistance between BAT2+, BAT4+, BAT5+, BAT6+, BAT7+, BAT8+, BAT8-, and T2.
They should be >500 kilohms for correct operation.

Set jumpers AO, Al, and A2 to position B, B, and A.

Measure the resistance between BAT4+ and T3. It should be <25 ohms for correct operation.
Measure the resistance between BAT5+ and T2. It should be <25 ohms for correct operation.
Measure the resistance between BAT1+, BAT2+, BAT3+, BAT5+, BAT6+, BAT7+, BAT8+, and
T3. They should be >500 kilohms for correct operation.

Measure the resistance between BAT2+, BAT3+, BAT4+, BAT6+, BAT7+, BAT8+, BAT8-, and T2.
They should be >500 kilohms for correct operation.

Set jumpers A0, Al, and A2 to position A, B, and A.

Measure the resistance between BAT3+ and T3. It should be <25 ohms for correct operation.
Measure the resistance between BAT4+ and T2. It should be <25 ohms for correct operation.
Measure the resistance between BAT1+, BAT2+, BAT4+, BAT5+, BAT6+, BAT7+, BAT8+, and
T3. They should be >500 kilohms for correct operation.

Measure the resistance between BAT2+, BAT3+, BAT5+, BAT6+, BAT7+, BAT8+, BATS8-, and T2.
They should be >500 kilohms for correct operation.

Set jumpers AO, Al, and A2 to position A, B, and B.

Measure the resistance between BAT7+ and T3. It should be <25 ohms for correct operation.
Measure the resistance between BAT8+ and T2. It should be <25 ohms for correct operation.
Measure the resistance between BAT1+, BAT2+, BAT3+, BAT4+, BAT5+, BAT6+, BAT8+, and
T3. They should be >500 kilohms for correct operation.

Measure the resistance between BAT2+, BAT3+, BAT4+, BAT5+, BAT6+, BAT7+, BAT8-, and T2.
They should be >500 kilohms for correct operation.

Set jumpers A0, Al, and A2 to position B, B, and B.

Measure the resistance between BAT8+ and T3. It should be <25 ohms for correct operation.
Measure the resistance between BAT8- and T2. It should be <25 ohms for correct operation.
Measure the resistance between BAT1+, BAT2+, BAT3+, BAT4+, BAT5+, BAT6+, BAT7+, and
T3. They should be >500 kilohms for correct operation.
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Measure the resistance between BAT2+, BAT3+, BAT4+, BAT5+, BAT6+, BAT7+, BAT8+, and
T2. They should be >500 kilohms for correct operation.

Set jumpers A0, Al, and A2 to position B, A, and B.

Measure the resistance between BAT6+ and T3. It should be <25 ohms for correct operation.
Measure the resistance between BAT7+ and T2. It should be <25 ohms for correct operation.
Measure the resistance between BAT1+, BAT2+, BAT3+, BAT4+, BAT5+, BAT7+, BAT8+, and
T3. They should be >500 kilohms for correct operation.

Measure the resistance between BAT2+, BAT3+, BAT4+, BAT5+, BAT6+, BAT8+, BAT8-, and T2.
They should be >500 kilohms for correct operation.

Set jumpers A0, Al, and A2 to position A, A, and B.

Measure the resistance between BAT5+ and T3. It should be <25 ohms for correct operation.
Measure the resistance between BAT6+ and T2. It should be <25 ohms for correct operation.
Measure the resistance between BAT1+, BAT2+, BAT3+, BAT4+, BAT6+, BAT7+, BAT8+, and
T3. They should be >500 kilohms for correct operation.

Measure the resistance between BAT2+, BAT3+, BAT4+, BAT5+, BAT7+, BAT8+, BAT8-, and T2.
They should be >500 kilohms for correct operation.

Set the jJumper EN to position A. Set jJumpers A0, Al, and A2 to position A. Replace jumpers BAT1
to BATS.



